[&E# 3]
OBHFEHMERKKBBL VA —HBKERVERAM (SHTEE~SNSEE)

[AEH] GERHA4S5—H) A
45 oH 61 1H 8H 9H 1084 1148 12H4 15 2H 3H =X
SFTEE F=H=E L) 3, 000 6, 000 3, 000 3, 000 3, 000 3,000 6, 000 6, 000 12, 000 6, 000 9,000 5,000 65, 000
" = &% (M) 272,160] 550,800] 275,400] 275,400] 275,400{ 275,400| 547,800] 547,800f 1,095 600{ 561,000{ 861,300{ 445,500 5,983, 560
SH 2 EfE E=RE (L) 3, 000 3,000 6, 000 3, 000 3,000 3,000 6, 000 6, 000 12, 000 9,000 9,000 6, 000 69, 000
" ~ &% (M) 227,700f 207,900{ 396,000{ 198,000{ 231,000{ 231,000{ 462,000{ 462,000] 924, 000] 693,000 732, 600| 521,400] 5, 286,600
&7 3 EE EH= L) 6, 000 6, 000 3, 000 3, 000 3,000 3,000 6, 000 6, 000 9,000 8, 000 9,000 6, 050 68, 050
" = &% (M) 054,400] 554,400) 277,200] 287,100] 287,100) 287,100 580,800| 660,000] 1,009,800] 853, 600| 1,009,800{ 705, 430{ /, 066, /30
&304 EE F=H=E L) 9,910 6, 000 3, 000 3, 000 3, 000 3,000 3,000 9,000 8, 000 6, 000 9,000 9,000 67,510
" = [&% (M) 660, 649] 719,400] 359,700] 343,200{ 343,200{ 343,200] 353,100f 1,079,100{ 915,200{ 673,200 1,009, 800| 1,009, 800] 7, 809, 549
S5 ERE E=RE L) 3, 000 6, 000 3, 000 3, 000 3, 000 3, 000 3,000 6, 000 9, 000 6, 000 9, 000 9, 000 63, 000
r ~ &% (M) 336,600, 673,200] 336,600] 336,600) 336,600) 372,900] 372,900 686,400] 1,029,600] 693, 000] 1,059, 300] 1,059, 300{ 7/, 293, 000
[(FanNHR] OFA4¥Y—-RF—LAVRY) 3 V) F5i3A
4H oH 64 1R 8H 9H 104 1148 1284 1H 2H 3H =¥
SHTTERE HEAE (m) 317 60 11 11 17 48 60 67 11 25 99 65 651
" ~ &% (M) 17,290 25, 930 29, 559 29, 365 8, 650 21, 969 25,995 30, 846 32,489 12, 985 27, 889 29,971 292,938
&30 2 EE EAE (m) 39 ol 14 66 2] 65 65 53 14 30 99 30 629
i = &% (M) 19, 621 25,115 33,438 30, 371 13,979 30,116 30, 153 26, 064 33, 946 15, 539 26, 695 15, 250 300, 287
&I 3EE EAE (m) 42. 6 45.0 1.1 54.3 20.0 57.8 67.9 57.2 96. 1 33.6 43.6 50.3 600
" ~ &% (M) 21, 7131 22, 836 33, 202 26, 133 11,011 28,034 31,790 27, 811 21,402 17,562 22,191 25, 246 295, 549
SH 4 ERE HEAE (m) 31.1 52.8 55.9 70.8 19.6 59.3 51.1 62.3 57.6 30. 6 42.7 49.8 590
" ~ &% (M) 20, 598 27,744 28, 988 34, 971 11, 400 30, 353 27,061 31, 557 29,671 17,026 23, 046 26, 522 308, 937/
&30 5 EE EAE (m) 35.9 53.4 62. 6 63. 4 24.0 59. 6 56.9 57.9 94.9 21.5 38.9 52. 1 981
i = &% (M) 19, 521 27,985 31,678 32,000 13, 651 30,474 26, 718 29, 791 28, 586 12,311 21,186 27,462 301, 423
(4Tih)] (EH=EER) fiiid
45 oH 6H 1H 8H 9H 10H 114 12H4 15 2H 3H 2t
SFTEE FEHEE L) 0 0 0 0 0 0 165 139 89 125 127 65 110
i = &% (M) 0 0 0 0 0 0 15,427 12,997 8, 321 11,962 12,433 5934 67,074
SH 2 E R =S (L) 0 63 0 0 0 0 0 101 165 106 0 220 655
" ~ &% (M) 0 4, 505 0 0 0 0 0 7,999 13, 068 8,395 0 19, 602 93, 569
SF13 ERE =S (L) 0 0 0 0 0 0 0 0 0 248 150 0 398
" = &% (M) 0 0 0 0 0 0 0 0 0 21,007/ 17,160 0 44,167
&304 EE EHE L) 0 0 0 0 0 0 0 0 359 0 0 339 698
" = &% (M) 0 0 0 0 0 0 0 0 41, 859 0 38, 782 0 80, 641
SH15 ERE EHEE (L) 0 0 0 0 0 0 0 0 341 0 0 314 655
i ~ &% (M) 0 0 0 0 0 0 0 0 39, 761 0 0 37,648 11,409




[E¥ 3]

OBHMFRHB/BE VI —RBKERVERAN (THMTEE~THOIEE)

[E5) fiik
15 5F 6H 78 5F 9z 08 TR 7 T8 75 35 &z
SFTTEE {E A& (Kwh) 11, 748 11,086 11, 635 11, 899 12, 406 10, 459 12, 355 12,593 12,566 12,919 11, 158 11, 932 142, 756
5 = (&% (H) 316, 931 298, 490 307, 305 314, 288 326, 828 288, 543 302, 594 309, 514 305, 831 311, 655 275, 551 290, 010 3,647, 540
SH 2 E R {E A& (Kwh) 7,152 10,075 8, 597 13, 685 13, 790 12,237 15,069 13, 879 16, 682 14, 487 13,932 14, 469 154, 054
n > |£%8 (M) 196, 560 254, 849 226, 746 328, 308 322,299 293, 827 335, 540 320, 430 369, 584 333, 376 314, 969 337,098] 3,633, 586
&7 3 EE {FEAE (Kwh) 13,813 13, 203 15, 291 11,717 10, 691 13, 366 12, 352 12, 466 12, 441 11, 248 11, 705 11, 683 149, 976
o =~ |[£%8 () 322,102 320, 365 366, 902 304, 294 287,716 345,333 327,424 334, 512 337, 844 316, 021 332, 226 337, 813] 3,932,552
&304 EE {E A& (Kwh) 10, 914 11, 881 11, 878 13, 358 11,075 13, 365 12,116 12, 321 11, 954 10, 409 12, 269 11, 756 143, 296
5 > |£%8 (M) 322,766 347,771 351, 236 402, 729 363, 744 450, 362 433, 435 450, 491 444 282 397, 917 417,124 396, 288| 4,718, 145
S5 ERE {# FH= (Kwh) 11, 284 11,476 13, 569 14, 064 11, 721 12,170 10, 829 10, 421 9,573 8,774 10, 812 11,923 136, 616
n = |&£%8 (M) 528, 873 492, 377 521,032 508, 502 433, 595 423, 921 408, 784 380, 416 362, 471 346, 687 394, 320 417,949 5, 218,927
k] B
48 58 68 18 88 98 108 118 128 18 28 38 =

SHTTERE FEH= (1) 499 580 798 791 348 726 621 760 839 324 640 291 1,217
i = |&£%8 (M) 270, 131 314, 308 433, 205 429, 388 187, 775 393, 936 336, 669 420,118 464, 003 1717, 921 353, 458 159, 590 3, 940, 502
&F0 2 EE FH= (1) 275 193 593 127 383 637 648 720 710 471 653 604 6,614
T = |(£%8 (M) 150, 701 105, 150 327, 350 401, 788 210, 695 371,790 357,903 397, 898 392, 343 259 580 360, 680 333,461 3,669, 339
&I 3 EE FH= (1) 532 571 700 693 200 731 658 681 668 306 676 585 7,001
n > |£%8 (H) 293, 465 315,130 386, 788 382, 900 109, 038 404, 010 363, 458 376, 235 369, 013 167,922 373, 457 339, 489 3, 880, 905
SH 4 ERE FH= (1) 478 551 687 671 234 748 548 674 648 239 630 552 6, 660
i = |&% (M) 276,990 319, 630 399, 067 389, 722 133, 470 434, 697 317, 877 391, 474 376, 287 137, 390 365, 773 320, 213] 3, 862,590
&F05 EE FH=E (1) 406 517 694 619 258 658 590 642 646 154 567 615 6, 366
T = [£%8 () 234,935 299, 770 403, 156 359, 348 148, 488 382,128 342, 409 372,782 375,119 87, 742 328, 975 357,021 3,691,873




